MODEL QUESTION 22

1. Fill'in the blanks with the words from the box. Make any change if necessary.

forward | gratefulness | appreciation | or the for natural | friendship | the from

Gratefulness is (a) — acknowledgment and (b) — of help received (c) — others. In the society we cannot do
all things alone. Sometimes we need the help of others. We are inter-dependent in the society. A man may
be in danger, (d) — in problem. It is a (e) — instinct in man to come (f) —, because of his fellow feeling, (g)
— and kinship with help for the needy. To acknowledge and appreciate such help is (h) —. Gratefulness
comes from (i) — depth of the heart and finds its manifestation in looks, words and deeds of the grateful
man. The grateful man feels highly obliged (j) — the benefit he has received.

a d g j

b e h

c f i
2. Fill'in the blanks with suitable words.
Our life is (a) sum total of hours, days and years. But all days are not (b)____ memorable to us. Most
of the days are forgotten (c)____ the passage of time. Only (d) few of these days remain ever fresh
in our memory. My (e) day at school is (f) a day. It is fresh in my mind even now. When | was a
boy (g) six, my father proposed that | should be admitted (h)___ aschool (i)____ classl.Ifelt (j)____
joy and delight.

a d g i

b e h

c f i
3. Make five sentences using parts of sentences from each column of the table below.

He wanted to spread knowledge among the people.

The rules of Athens was a great philosopher of ancient Greece.

Socrates began jealous of his popularity.

This great man grew sentenced to death.

The young men to gather round him.

4. Complete the following text with right form of the verbs given in the box.

be make | has come | are enliven | follow | produce | cultivate | know
Bangladesh (a)......... a darling child of nature. Nature (b)....... adorned her with unique beauty. No other
country in the world is so blessed with natural beauties as Bangladesh. The six seasons of the year coming
by turns has (c)........ her a land of beauty, variety and plenty. In summer, heat is intense but many kinds of
sweet fruits (d)........... available in this season. After a long spell of hot weather, the rainy season (e)........
with shower to cool the earth. The winter is (f)............. by spring that (g)........ nature with flowers, sprouts
and greenery. Here soil is so fertile that our farmers can (h)...... crops in plenty though they (i)........ much

about how to (j)..... scientifically.
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5. Change the narrative style of the following text:

“Who are you?” said a little girl, running to me. “You are standing in front of our gate for a while.” “l am your
father’s friend,” said i. “Where is your father?” “Uncle,” said the little girl. “My father has gone to Khulna.”
“Can you give me his phone number?” “Yes, wait a bit, uncle,” the girl replied.

6. Change the sentences according to directions.

a. Tahsan is a regular student (Make negative sentence)

b. He is never late to attend his classes (make affirmative sentence)
(8 he wants to be a doctor to serve people (make complex sentence)
d. He sits to read when it is time to read (make simple sentence)

e. he is loved by his parents, teachers and friends (Use active voice)
f. He also obeys his parents and teachers (Use passive voice)

8. Everybody likes him (Make interrogative sentence)

h. He is the best boy in the class (Use comparative degree)

ii; He studies hard to make a good result (Make complex sentence)

s He never wastes his time (Make affirmative sentence)
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7. Complete the following sentences.

a) They ran hurriedly lest

b) Itisa long time since

As he behaved rough,

d) If you waste your time,

e) Had | the wings of a bird,
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8. Complete the text adding suffixes, prefixes or the both with the root words given in the parenthesis.

(a) (employ) is a state when a man has no work to earn money for the (b) (maintain) -
of himself and his family. It is a social evil which hampers the (c) (improve) of social

life. The (d) (prosper) of a society depends upon the (e) (reason) income of its
(f) (able body) persons. Such persons should have some (g) (suit) work that will
bring them handsome (h) (earn) for themselves and their family members. It decreases per
capita income and standard of living and cannot (i) (sure) overall progress of a state. It also
creates (j) (disturb) in social peace and happiness.

a d g j

b e h

c f i
9. Make tag questions of these statements.
a) | am optimistic that she will make a good result, ?
b) The girl in her pleased us all, ?
c) Raihan and not his brothers got the prizes, ?
d) Something is better than nothing, ?
e) Every mother loves her child, ?
10. Complete the passage with suitable connectors.
A nonsmoker always tries to avoid the smoker (a)...... smoking is very harmful (b)........ hateful. Smoking
causes a number of fatal diseases (c)............. cancer, ulcer, heart attack, chronic. bronchitis, gastric, irritation
of eyes, offence of the nose and unsettlement of mind. It is not (d)........ describe the demerits of smoking.
We should make a social revolution against this destructive and disgraceful habit (e)........ we may have a

smoking free country.

a c e
b d
11. Rewrite the following passage and punctuate where necessary.

a hawker said to me do you want any newspaper i have all types of newspapers please take one i said i want
a weekly magazine do you have any magazine he said yes i have a magazine named jai jai din what is the
price of it i asked
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